This report contains the transfers results.

2,684

Contest Name Ward 5 - Inverleith Valid Votes 13,416 Positions to be Filled Quota

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jule BANDEL	Scottish Green Party	1,714
Stuart HERRING	Scottish Conservative and Unionist	853
Phil HOLDEN	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	96
Tam LAIRD	Scottish Libertarian Party	53
Stephen MCNAMARA		17
Max MITCHELL	Scottish Conservative and Unionist	1,836
Mhairi MUNRO-BRIAN	Labour and Co-operative Party	1,684
Vicky NICOLSON	Scottish National Party (SNP)	2,641
Hal OSLER	Scottish Liberal Democrats	3,117
Malcolm Alexander WOOD	Scottish Liberal Democrats	1,405
	Total	13,416

Candidate Hal OSLER Elected with 3,117 votes, being in excess of the quota of 2,684

This report contains the transfers results.

Stage 2 - Surplus of Hal OSLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	188	0.13891	26.11508
Transfer to Stuart HERRING	73	0.13891	10.14043
Transfer to Phil HOLDEN	10	0.13891	1.38910
Transfer to Max MITCHELL	299	0.13891	41.53409
Transfer to Mhairi MUNRO-BRIAN	209	0.13891	29.03219
Transfer to Vicky NICOLSON	117	0.13891	16.25247
Transfer to Malcolm Alexander WOOD	2,128	0.13891	295.60048
No further preference	87	0.13891	12.08517
Not transferred due to rounding			0.01753
	Total		433.00000

This report contains the transfers results.

Stage 3 - Exclusion of Stephen MCNAMARA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Phil HOLDEN	1	1.00000	1.00000
Transfer to Max MITCHELL	1	1.00000	1.00000
Transfer to Mhairi MUNRO-BRIAN	2	1.00000	2.00000
Transfer to Vicky NICOLSON	2	1.00000	2.00000
Transfer to Malcolm Alexander WOOD	2	1.00000	2.00000
Transfer to Max MITCHELL	1	0.13891	0.13891
Transfer to Malcolm Alexander WOOD	1	0.13891	0.13891
No further preference	9	1.00000	9.00000
Not transferred due to rounding			0.00000
	Total		17.27782

This report contains the transfers results.

Stage 4 - Exclusion of Tam LAIRD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	1	1.00000	1.00000
Transfer to Stuart HERRING	4	1.00000	4.00000
Transfer to Phil HOLDEN	11	1.00000	11.00000
Transfer to Max MITCHELL	5	1.00000	5.00000
Transfer to Mhairi MUNRO-BRIAN	6	1.00000	6.00000
Transfer to Vicky NICOLSON	4	1.00000	4.00000
Transfer to Malcolm Alexander WOOD	9	1.00000	9.00000
Transfer to Jule BANDEL	2	0.13891	0.27782
Transfer to Max MITCHELL	1	0.13891	0.13891
No further preference	13	1.00000	13.00000
No further preference	1	0.13891	0.13891
Not transferred due to rounding			0.00000
	Total		53.55564

This report contains the transfers results.

Stage 5 - Exclusion of Phil HOLDEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	10	1.00000	10.00000
Transfer to Stuart HERRING	22	1.00000	22.00000
Transfer to Max MITCHELL	13	1.00000	13.00000
Transfer to Mhairi MUNRO-BRIAN	15	1.00000	15.00000
Transfer to Vicky NICOLSON	5	1.00000	5.00000
Transfer to Malcolm Alexander WOOD	13	1.00000	13.00000
Transfer to Jule BANDEL	1	0.13891	0.13891
Transfer to Stuart HERRING	1	0.13891	0.13891
Transfer to Mhairi MUNRO-BRIAN	1	0.13891	0.13891
Transfer to Vicky NICOLSON	1	0.13891	0.13891
Transfer to Malcolm Alexander WOOD	4	0.13891	0.55564
No further preference	30	1.00000	30.00000
No further preference	2	0.13891	0.27782
Not transferred due to rounding			0.00000
	Total		109.38910

This report contains the transfers results.

Stage 6 - Exclusion of Stuart HERRING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	16	1.00000	16.00000
Transfer to Max MITCHELL	741	1.00000	741.00000
Transfer to Mhairi MUNRO-BRIAN	19	1.00000	19.00000
Transfer to Vicky NICOLSON	15	1.00000	15.00000
Transfer to Malcolm Alexander WOOD	37	1.00000	37.00000
Transfer to Jule BANDEL	2	0.13891	0.27782
Transfer to Max MITCHELL	42	0.13891	5.83422
Transfer to Mhairi MUNRO-BRIAN	1	0.13891	0.13891
Transfer to Malcolm Alexander WOOD	20	0.13891	2.77820
No further preference	51	1.00000	51.00000
No further preference	9	0.13891	1.25019
Not transferred due to rounding			0.00000
	Total		889.27934

This report contains the transfers results.

Stage 7 - Exclusion of Mhairi MUNRO-BRIAN

1,755.31001

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	448	1.00000	448.00000
Transfer to Max MITCHELL	121	1.00000	121.00000
Transfer to Vicky NICOLSON	251	1.00000	251.00000
Transfer to Malcolm Alexander WOOD	497	1.00000	497.00000
Transfer to Jule BANDEL	42	0.13891	5.83422
Transfer to Max MITCHELL	21	0.13891	2.91711
Transfer to Vicky NICOLSON	17	0.13891	2.36147
Transfer to Malcolm Alexander WOOD	97	0.13891	13.47427
No further preference	409	1.00000	409.00000
No further preference	34	0.13891	4.72294
Not transferred due to rounding			0.00000
	Total		1,755.31001

 $Report\ Name:\ Transfers_V0001_Ward\text{-}5\text{---}Inverleith_06052022_155456.pdf\ Created:\ 06\text{-}5\text{-}2022\ 15:54:56}$

This report contains the transfers results.

Stage 8 - Surplus of Vicky NICOLSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	1,830	0.08606	157.48980
Transfer to Malcolm Alexander WOOD	313	0.08606	26.93678
Transfer to Jule BANDEL	58	0.01195	0.69310
Transfer to Malcolm Alexander WOOD	46	0.01195	0.54970
No further preference	775	0.08606	66.69650
No further preference	31	0.01195	0.37045
Not transferred due to rounding			0.01652
	Total		252.75285

This report contains the transfers results.

Stage 9 - Surplus of Max MITCHELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	125	0.03019	3.77375
Transfer to Malcolm Alexander WOOD	1,118	0.03019	33.75242
Transfer to Jule BANDEL	17	0.00419	0.07123
Transfer to Malcolm Alexander WOOD	232	0.00419	0.97208
No further preference	1,474	0.03019	44.50006
No further preference	115	0.00419	0.48185
Not transferred due to rounding			0.01185
	Total		83.56324

This report contains the transfers results.

Stage 10 - Exclusion of Malcolm Alexander WOOD

2,337.75848

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jule BANDEL	471	1.00000	471.00000
Transfer to Jule BANDEL	625	0.13891	86.81875
Transfer to Jule BANDEL	147	0.08606	12.65082
Transfer to Jule BANDEL	147	0.03019	4.43793
Transfer to Jule BANDEL	22	0.01195	0.26290
Transfer to Jule BANDEL	26	0.00419	0.10894
No further preference	1,492	1.00000	1,492.00000
No further preference	1,625	0.13891	225.72875
No further preference	166	0.08606	14.28596
No further preference	971	0.03019	29.31449
No further preference	24	0.01195	0.28680
No further preference	206	0.00419	0.86314
Not transferred due to rounding			0.00000
			0.00===0.10

Total 2,337.75848